
EHE 56 Liquid End Exploded View 

3

15
5

6

4

3

15

5

6

4

14

13
11

ZZ

17
14

11

13
12

19 21

20

17

12
(FC only) 

(FC only)

14

14

25

22
23

26

24

27

28

29 30 31 32

8

9
10

P/N 180754.A
April 2021



EHE 56 Liquid End Parts List 

Item Part No Description Qty Size Liquid End Mtl 
1 EH2114 Head, E56 PVC 1 56 VC, VE, VF 

EH2115 Head, E56 GFRPP 1 56 PC, PE 
EH2118 Head, E56 PVC Machined 1 56 VM 
EH2116 Head, E56 PVDF 1 56 FC 

3 EH0656 Housing, Valve, E56, PVC 2 56 VC, VE, VM, VF 
EH0685 Housing, Valve, E56, GFRPP 2 56 PC, PE 
EH0916 Housing, Valve, ½ PVDF 2 56 FC 

4 EH0657 Nut, Coupling, E56, PVC 2 56 VC, VE, VM, VF 
EH0686 Nut, Coupling, E56, GFRPP 2 56 PC, PE 
EH0917 Nut, Coupling, E56, PVDF 2 56 FC 

5 EH0730 Adapter, E56, 1/2, PVC 2 56 VC, VE, VM, VF 
EH0735 Adapter, E56, 1/2, GFRPP 2 56 PC, PE 
EH0923 Adapter, E56, PVDF 2 56 FC 

6 EH0731 Clamp Ring, E56, 1/2, SS 1(2) 56 All (FC)
*8 EH2119 Diaphragm, PTFE/EPDM 1 56 All 
*9 EH0660 Retainer, Secondary, PPS 1 56 All 

*10 EH0659 Retainer 1 56 All 
*11 EH0661 Guide, Valve, .625, PVC 2 56 VC, VE, VM, VF 

EH0718 Guide, Valve, .625, GFRPP 2 56 PC, PE 
EH0918 Guide, Valve, 0.625, PVDF 2 56 FC 

*12 EH2242 Seat, Valve, .625, FKM 2 56 VC, VM, PC 
EH0663 Seat, Valve, .625, EPDM 2 56 VE, PE, VF 
EH0920 Seat, Valve, 0.625, PCTFE 2 56 FC 

*13 EH0664 Ball, Valve, .625, CE 2 56 VC, VE, VM, PC, PE, FC 
E00073 Ball, Valve, .625, PTFE 2 56 VF 

*14 EH0666 Gasket, Valve, .625, PTFE 2 56 VC, VE, VM, PC, PE, VF 
EH0921 Gasket, Valve, 0.625 PTFE 4 56 FC 

*15 EH0122 O-Ring, P16 FKM 1 56 VC, VM, PC 
EH0127 O-Ring, P16 EPDM 1 56 VE, PE, VF 
EH0924 Gasket, Adapter, PTFE 2 56 FC 

*17 EH0667 O-Ring, 29.8 X 2.62, FKM 2 56 VC, VM, PC 
EH0668 O-Ring, 29.8 X 2.62, EPDM 2 56 VE, PE, VF 
EH0925 Gasket, Housing, PTFE 2 56 FC 

19 EH2054 Bolt, M5 x 55 SHC, 316 SS 6 56 VC, VE, PC, PE, VF 
EH2121 Bolt, M5 x 75 SHC, 316 SS 6 56 VM 

20 EH2011 Washer, M5 Flat, 316 SS 6 56 All 
21 EH2012 Washer, M5 Lock, 316 SS 6 56 All 

*22 EH0302 O-Ring, Knob, Seal 1 56 VC, PC 
EH0303 O-Ring, Knob, Seal 1 56 VE, PE, VF

*23 EH0300 O-Ring, Knob, Stop 1 56 VC, PC 
EH0301 O-Ring, Knob, Stop 1 56 VE, PE, VF

*24 EH0122 O-Ring, Fitting Seal 1 56 VC, PC 
EH0127 O-Ring, Fitting Seal 1 56 VE, PE, VF 

25 EH0299 Adjustment Knob 1 56 VC, VE, VF 
EH0321 Adjustment Knob 1 56 PC, PE 

26 EH1662 Manual Air Vent Valve Body 1 56 VC, VE, VF 
EH1665 Manual Air Vent Valve Body 1 56 PC, PE 

27 EH1666 Valve Housing MAVV 1 56 VC, VE, VF 
EH1667 Valve Housing MAVV 1 56 PC, PE 

28 EH1661 Lock Nut, MAVV 1 56 VC, VE,VF 
EH1664 Lock Nut, MAVV 1 56 PC, PE 

29 EH0620 Coupling Nut 2 56 VC, VE, VF 
EH0676 Coupling Nut 2 56 PC, PE 

30 EH0720 Clamp Ring 2 56 VC, VE, PC, PE, VF 
31 EH0719 Adapter 2 56 

EH0734 Adapter 2 56 PC, PE 
32 EH0028 O-Ring, Coupling Nut 2 56 VC, PC 

EH0051 O-Ring, Coupling Nut 2 56 PC, PE, VF 
ZZ ---------- Brass Spacers Drive specific/ re-use when replacing diaphragm 
* Included in spare parts kit 

VC, VE,VF 


